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DGoso2 005971 BOT-52T-103 
n.sc. Three/Four Year (Semester • II) EXAMINATION 

SESSION 2~23-24 (Held in Jul. 2024) 

(Common to UG0806/UG0812) 

(Faculty of Science) 

Botany 

Cell Biology, Molecular Biology and Genetics 
.,----

Time Allowed: Three Hours 

Maximum Marks: 80 

No supplementary answer-book will be given to any candidate. Hence the candidates should write the 
answers precise!y in the main answer-book only. 

N ~ ~cpl~ \i'ffi-~R<·Ff>/,~ ~\jf1q1n I am: ~cm~ fcl> ~ ~ ~--~~ct>r ~ tr 
ti~-Ri ~ct,~~ I 

Answers of short answer type questions must be given in sequential order. Similarly all the parts of one 
question of descriptive part should be answered at one place in the answer-bo~k. . . ~~ 

~~ti-<lfiiqj ~ ct> ~. ~ c6_ w~l~tilx tr ~ I ~ ~ ~ ~ ~ quf~lf'ic6 ~ c$ af;e,•fa ~ 1fq 

fctfirl ~"$~I ~-~r«t <f>f lf ~--31WT ~."CR~ q,R ~ ~Gi I~ ~ tr -~.w·PR sf;Jiljtil'< ~ cfR I 
Write your roll number on question paper before start writing answer of questions. 

~<fi'3ffl"f<1&~~l{cf~-~~~~31"ffl ~~~ I 

Question paper consists of two parts A and B . . 

r PART•A:20marks1JT1T- 31': 20 ff. 

: PartA is compulsory having 10 very short answer-type question (with a limit of20 words) of two marks each. 
The first question is based on knowledge, understanding and applications of the topics/text _covered in the 
syllabus. 

1lT1T 3l "ff GT 3T<fi cfi 10 3lfff. C'f~ti.~ll ~ (20 00 cCI' ~ ~ ~) 31PJc114 ~ I q5C'fl ~ q1q<Uf>&i -q :tll~cit 

Fclti4i/QJot ~. ~ &R 3ljQ~1,1'i ~ ~ t I 
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PART - B: 60 marks 1fl1T - ~ : 60 atcf; . ing question 
uni1S co111P°5 

• 1 tlUrnber i.. . Part ~ ~f the q~estion paper is divided into four_ ch question wit tany 15 tnarks. 5• lbcrc is one 
descnptwe questton from each unit '}'it)) \I!tef0'1 cbo1ce. Ea 

•• - -~i,~~l{~fh-_ ~ ~ <f>T 1lrT ~ ffi ~ 2-5 ~ tITT {ifii~d1 ~ l<f.,""'"' ''1'{}~ cS ~ ~ 
q<,l11~q; m ~ I ~ ~ 15 3l<f> <f>T t I 

-«:Z.-31 SECTION -Al G-,g 

1. Give answers in brief:-

~w the structure of Chloroplast. 

' ' -A- • ~ ¾l'<i~lfc cp1 ·tHiFil ~HI~ I 

~Give one difference between prokaryotic and eukarYotic cell. 

~,~R<flR.q; ~ ~$R~1R,q; q,l~l<f;l tt ~ 3RR~ I 

(sYWhatis Mutation? 

xsc<tRqct1 ~ ~? 

~atis deletio~? 

fclcl141 ~ t? 

,A What are O~anld fragments? 

3t'icfHuitc6l ~~~t? 

j!{ Give the composition ofPNA. 

~- ~- ~. cf>l ~ 4ld1~ I 

~w many types of polymerase enzymes f~und in enkaryotic cem 

l{<tRt1)fect> <t>1~1ct>1 q ~a~~ ct> q1Jl'l~u1 c:~t~'{-a ~ ~ t? 

jti}WbatIBepIBtasIB? 

!;4◄~dl <fllTt? 

/4 What is cytoplasmic inheritance? 

<f>l~lcf>I ~ ti~ll 4181 crm t? 
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fa{ Give one role of Go\gt t,ody. 

~cJ;T~cf;TU~la~I 

SECTION - Bl~ _ ~ 

UNIT-I/~ - I 

,V Diseuss the ultra strocturC of mitochondrial with its roles. 

itl~c)q,~~~n ~ tr<lt1~=a;rr ~ <tTTm <l>T cfUA ~ftt"'{ 1 

OR/~ 

Write notes on the following :-

(a) Chloroplastgenome 

cft'fl~~l-te ~;?m 

(b) Structure and functions of cell wall. 

ct>)fllcf>I ~ <Cr ti~~1I ~ ~ 

UNIT-II/~ - II 

y What is cell division? Describe the process of mitosis and metosis by suitable diagrams only. 

ct>)~lef>I fcts11u1-r ~ t? ~1'i'1~ ~ 31tf~~ ct>)fll<f>l fctiilijj1 ~ ~ ~ cfUA ~R;t(! I 

Write notes on the following: -

( a) Physical and chemical mutagens 

-,nft)q; -qct -<l'til~Plq; '1c<lRqfl\jj'1 

(b) Polytene chromosome 

q'f JI R-1 w) i?I :a~" 

OR/ 31''-lill 

UNIT-III/~ - ID 

/ What is DNAreplication? Discuss the mechanism ofDNAreplication in eukaryotic cell. 

~ ~-q ~RtpRt cfm t'? ~$Rlllfecf> 4>l~lcf>I 'q ~ ~ ~ ~f<lcpfa ~ ~~t~l?.r cf>1 't1'1$tl~q I 
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Write notes on the following: -

~~R~°"~:-
(a) Geneticcode 

30-jqi~,q;~ 

(b) Griffith's transformation experiment 
~q>TqRqct1~ 

oRJ3ftflfl 

UNIT-IV/~ - IV 
5. Write an essay on cytoplasmic inheritance. 

4>1.~ l<f>T ~ g~lljw'1 tt'x ~ ~ftlq I 

JY'file notes on the following: 
~~R:04_0~ ~Rs.q 

(a) Multiple allelism 

~~J\~"'1 
(b) Co -dominance 
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